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I Analysis of navyn involving a namv
a  Question: why can’t the na»v be recognized?
i Answerl (?N2 ”7 237): one got scratched on a thorn, the other (n9v) scratched by a wolf (can’t tell difference)
1 Note: others (below) reject — difference is visible
ii  Answer2 (5): got mixed up with a %191 (animal that fell from high place)
1 Challenge; why can’t it be seen
2 Answer; he holds position that even if it stood — must wait 24 hours; if it walked - still requires np»1a
(a) Therefore: can’t be brought in for nv'nw — as it is a N80 pav
3 Note: others "Ry 1 & 107 ") reject — they hold that if it stands, needs no waiting; if it walks — needs no np»1a
iii  Answer3 (/707 *7): got mixed up with a 1970 151 — per X"y who prohibits N0 751 from namn
1 Note: others (above) reject — don’t accept X" and permit na*v 19 for namn
II  Analysis of 'a mwn — mixture of DwTp
a  Challenge (to first case — if they are both o>n5¥, each may be brought): n3'nv isn’t properly done
b Answerl (9o 27): our case is DW1 j17p (No NI'ND)
i Challenge (»aX): ruling that if 7n> 129p got mixed with 71 129p, or ¥”p with ¥”p or ¥”p with »"p
1 Then: he should put 4 o7 minn from each; if he gave 1 from each — ¥’
(a) Note: this only applies if they were mixed up while alive,
(b) But if: they were mixed after nv'nw, he only gives 4 o7 minn from the mix; if he gave 1 — rw
(i) Observation: “alive” is taught parallel with “}01n®” —i.e. by men — nonetheless, may be brought
(if) Defense (827): the Rrv™a must be reformulated — nv'nw shouldn’t matter
1. Rather: “alive” means “n3” — separate mo3; "pomnv” - if o7 got mixed
2. But: in any case, n2'no had already been properly performed
(c) a7 there must be enough o7 for both of them; else, invalid
(i) Challenge: a3 doesn’t require MW, per his report that according to 8™, no 1w for nrYN N NN
1. Answer1: that is according to X", but »27 doesn’t rule accordingly
2. Answer2: NRIN may require no 1Yw, 0T MNn may yet require Myw
III  Analysis of 'a mwn — if they got mixed up with 7wym 7102 (after 11779, all are treated like D *9pa JwYm M1)
a  n”17's question(s): does 1132 NN take on unique guidelines of Ma:
i m7raccording to w”1, mT may not partake of oin Y»a1 11312 — may they partake of n”ya 7121 nnn?
ii 774 an”pa 7121 may not be redeemed; may a 7132 NN be redeemed?
iii  N70252 5pwr a min YY1 M1 may not be weighed out; may a 7122 nmnn be weighed?
b Answer (837): Rn»71 - 7WYM N3, once they become mn *53, can generate NN — and their nMnn is exactly like them
c  n’a7's question: if a 102 dedicates his n”ya 7131 to n’an P73, may it be measured by weight (benefitting 2"n2)?
i Lemmal: we are more concerned with the profit for the 2”na (weighing out will bring in more money)
ii ~ Lemma2: we are more concerned with degrading the 9132
d  Answer (X72ar 92 20p *9): from our mwn —if they got mixed with 9wym 7123, after bn and redemption — treated like n"a
i Assumed meaning: can’t be weighed X109
ii  Therefore: should answer n”a7’s question — we still maintain 1192 nv1Tp
iii ~ Challenge (7207 1 »71051): dissimilar —
1 In this case: 31 NWYTP and 2”2 MYTP — in one body, conflict of preferences
2 In mywp case: two separate bodies
iv  Block (p2an 92 >0y 73, supporting ¥7ar 72 »oy 77): if the 103 demanded that they redeem 132 (as n’nn), we wouldn’t
do so —even for 2"n3;
1 Rather: as 'nk "1 formulated — the 102 was only given rights over what was given him
2 Therefore: n"27’s question is rejected — obvious that we can’t allow weighing
IV Analysis of last line in "2 nwn — any na1p could get mixed except for nwrY nronN
a  Question: why not mention 0% (R*w1) nRYN?
i Answer: the nRon is a goat; the n%y is a lamb
b Question: why not mention nwR1 noa — Nva must be a yearling; bWk must be a 2-year old
i Answer: since y1%¥n DWR and 711 DWR are yearlings, could get mixed up
ii  Besides which: a yearling could look older; a 2-year old could look younger
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